Revision Exercise 1

Section A

1)
In the figure, theline 2y- 3x- a=0
meets the x-axis at P and its y-intercept is 2.

Find the coordinates of P. Y A

May 24, 2002

/Zy- 3x-a=0

A (-2,0) 2 1
B (-4/3,0)
C (-1,0)
D (-3/4,0)
P
2 /
Find the values of x which satisfy either
3X+5
- X>20r <X
A, X<-3
B, X<-2
C, x<-1
D x>1
)

5
If the sum to infinity of the geometric sequence Lx %, .....is >
find x

A. -3
B. 3
C. -3/5
D. 3/5
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Revision Exercise 1

Section A Solutions

May 24, 2002

Theline 2y- 3x- a=0
Yy A
y:%+2
2 2 a Z/2y-3x-a:0
If y-interceptis2, \ E=2 2 7
a=4, :§+ﬂ:y:§ 2
2 2 2
wheny =0, x:-ﬂ P
3 / 0
—x>20r3X+5<x
X<-2
3X+5
<X
-2
3X+5>-2x,
5x > -5 |
x<-1 | | |
X<-2or x<-1 -2 -1 0
\' x<-1

The sequencel, x,x2,x3,..
R=x a=1
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Revision Exercise 1 May 24, 2002
Section B y A

4) -

The figure shows the graphs of  y = x* y=x y- 4x- 5=0
and y. 4x-5=0
(@

Find the coordinates of the points
of intersection of the curve and the line.
(3 marks)

(b) 0
Hence solve the inequality
x* - 4x- 5<0

(2 marks)

5

In the figure, ABC is acircle with center O and radius 10.
BAOC :% .Calculate, correct to 2 decimal places,

@ the area of sector OABC (2 marks)
(b) theareaof DOAC (2 marks)
(© the area of segment ABC (1 marks)
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6)
In the figure, the angles of elevation of V from
A and B are 30° and 60° respectively. If AB=40m, v
Find h, correct to 2 decimal places.
(5 marks)

h

A 30° H 60
O
|< 40m

7

Two cards are selected at random from ten cards numbered 1 to 10. Find the probability
that the sumis even if

a) the two cards are drawn one after the other with replacement, (3 marks)

b) the two cards are drawn together. (2 marks)
Section C

8)

For an arithmetic progression with first term a and common difference d. Thethird term
and fifth term of the arithmetic progression are 19 and 13 respectively.

a) Find aand d. (5 marks)

b) Find the first negative term of the sequence (5 marks)

C) Let S, be the sum of the first nterms. Find the largest value of S..
(5 marks)
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Revision Exercise 1

Solutions:
Section B

Sub (1) to (2),

x* - 4x-5=0
(x-B)(x+1)=0

\ x=50r x=-1 [1A]

b)

X? - 4x-5<0
(x-5(x+1)<0  [IM]
\ -1<x<5 [14]

S)
3 1
The area of sector OABC :Er2q [AM]
:i' 102 p_
2
=25p
=78.54 (Correctto2decimal placeg
b)
Theareaof DOAC :%rzsinq [AM]
_LopanP
=3 10° sin 5
=50 [1A]
c)
the area of segment ABC =7854- 50
=2854 [1A]
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6)

Let OB = x, [AM]
Consider DVOB,

tan60° = —

X = h ... (1) [IM]

Consider DVOA,
h

tan30° =
40

Sub(1)to (2),
- h = h [lM]
tan60° tan30°
40 = h‘?f ! + 1 9
etan30° tan60° g

h=17.32m  [1A]

7)
a)
P(sumis even without replacement)
5,4
9
[1A]

[2m]

N 5|

b)
P(sumis evenwith replacement)

_5. 5 [1|\/|]
10 10

_1
=7 DA
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8)

a)

Let nbethe n™ term

The generaltermisT(n) =a+(n- 1)d [1M]
TR =a+(3-1d =19

a+2d =19 -weeeen- @) [m]
T(G)=a+(5- )d =13
a+4d =13--------- 2 [M]
(2)- (1)
2d=-6
d=-3 14

a=19+6=25 [1A]

b)
T(N)=25- (n-1)3<0  [2M]

n-1>§

3
n>93%  [IM]
\ n=10 [IM]1A]

\ the first negative term of the sequence is 10

c)

Since the first negative term of the sequence is 10, the last positive term is 9

S, =g[2a+(n- d]  [M]
n=9 [IM]
S, =%’ [27 25+ (9- )%3  [IM]
=117 1A
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